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TThhiiss  eeddiittiioonn  iiss  iinntteennddeedd  ffoorr  uussee  oouuttssiiddee  ooff  tthhee  UU..SS..  oonnllyy,,  wwiitthh  ccoonntteenntt  tthhaatt  mmaayy  bbee  ddiiffffeerreenntt  ffrroomm  tthhee  UU..SS..  EEddiittiioonn..  TThhiiss  mmaayy  nnoott  bbee  rreessoolldd,,  ccooppiieedd,,  oorr  

ddiissttrriibbuutteedd  wwiitthhoouutt  tthhee  pprriioorr  ccoonnsseenntt  ooff  tthhee  ppuubblliisshheerr.. 

Ex. 9–14 Concluded 

c. Bad debt expense under: 
  Allowance method ................................. ........................................ $28,705 
  Direct write-off method ($4,200 + $4,500 – $4,200  + $7,005).......  11,505 
  Difference....................................... ................................................. $17,200 
 
 

 Burrito’s income would be $17,200 higher under the  direct method than under 
the allowance method.  

Ex. 9–15 

$379,250 [$390,500 + $50,000 – ($3,500,000 × 1¾%)] 

Ex. 9–16 

a. $411,500 [$425,000 + $60,000 – ($4,200,000 × 1¾%)] 

 

b. $24,750 [($61,250 – $50,000) + ($73,500 – $60,000)] 


